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Question 1.Select the related word/letters/numbers from the given alternatives:

& I farehenl & & Hafeerd Qree/ 3ieR/Ean 1 v
Electric Current : Ampere :: Weight : ?

e varg : OPIIT IR ?
Options:

1) Scale

el

2) Kilogram

[CTipiEs

3) Commodity

e

4) Measurement

AT

Correct Answer: Kilogram
Tretee

Candidate Answer: Kilogram

et

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
ACXZ : BDWY :: CEVX : ?

Options:

1) DFUZ

2) DFUW

3) DGUW

4) DFUV
Correct Answer: DFUW
Candidate Answer: DFUV

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
37:65::50:7?

Options:

1) 75

2)79

3) 82

4) 87
Correct Answer: 82
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

FATAf@ weet # 2T 10 femenl & & Tawe e/ 37ar/Eean i giav ?
Options:

1) Thermometer

qHTHR

2) Barometer

AT

3) Diameter

ST

4) Hygrometer

[EpIGIEY

Correct Answer: Diameter

SR

Candidate Answer: Diameter
ST

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

TArATAf@ yeet # T 1w faehonl & & fawey erse/ 3rary/aean I giav ?

Options:
1) JF

2) UQ
3)PL

4) XS
Correct Answer: XS
Candidate Answer: XS

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

TArATaf@d Teet # fow 1w faehenl & & fawe erse)/ 3rar/aedm i AT ?

Options:
1) 46-52

2) 56-62
3) 66-72

4) 76-84
Correct Answer: 76-84
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per their order in the dictionary

TF=I oI 2se] 3T eI F T 1T e & AR QT ?
1. Embody 2. Embrace 3. Embitter 4.Emblem 5. Embroidery



Options:
1)3,4,2,51

2)4,2,51,3
3)4,1,2,5,3

4)3,4,1,2,5
Correct Answer: 3,4,1,2,5
Candidate Answer: 3,4, 1,2, 5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._

TrATAT@T Teat & Ueh 3iefeha T a2 B, FSraat veh ue v &1 ferw a1v fashedt & a5 @61 fashed fAw it 3feTshat sl g1 Y ?
CBA, FED, IHG, LKJ, ?

Options:

1) PRT

2) VUT
3) ONM

4) ZYX
Correct Answer: ONM
Candidate Answer: ONM

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

TArATAT@T TeaT & Ueh 3ieTeha T a2 B, FSrast veh ue v 1 few a1v fashedt & g @61 fashed fAw it 3feTshat sl g1 Y ?
6, 12, 36, 144, 720, 4320, ?

Options:

1) 30420

2) 30240
3) 31240

4) 32240
Correct Answer: 30240
Candidate Answer: [ NOT ANSWERED ]

Question 10.Introducing a woman, a man said "Her mother is the only daughter of my mother-in-law". How is the man related to the woman?

T Al T AR & §T I o e, " o SR AT A A AT O AT T 71" I BT Aol & AN AT HAT & ?
Options:

1) Son

=

2) Brother

S
3) Husband

ather

S
=

|

Correct Answer: Father

|

Candidate Answer: [ NOT ANSWERED ]

Question 11.Five children are standing in a row. O is third from M who is standing left of N, and P is on the left of Q who is fourth from N. What is the position of P
from right?

i o0 Tk UfFd H @381 0, M A TRRTE, SN & it 3R @er g1 P, Q & arft 3R &, ST N & iterr &1 griY 31 & P T T1eT shlA-ar g ?
Options:

1) Third

T

2) First

qgel

3) Fourth

Tt

4) Second

ERT

Correct Answer: Second

TRT

Candidate Answer: [ NOT ANSWERED ]



Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

Frrfafa fasmedt & @ g 2rea AT S T 10 2reg & 37aRT T F2aT 93k 8T T SIT e T ?
INTELLIGENCE

Options:

1) GENTLE

2) TEEN

3) GREEN

4) ENGINE
Correct Answer: GREEN
Candidate Answer: GREEN

Question 13.If "GOAT" is coded as "HPBU" , then how will "FROG" be coded as?

Ife 'GOAT' & fandll i & 'HPBU'for@r ST TahdT &1 Y 'FROG' & 38T i 3 & fordm S ?
Options:
1) GSPH
2) PHSG
3) GSHP

4) PSHG
Correct Answer: GSPH
Candidate Answer: GSPH

Question 14.In a certain code language, '@' represents '+', '@’ represents ', 'a' represents '+' and '0' represents 'x' . Find out the answer to the following
question:

TRl I 99T F @ T AT + &, DFH AT - &, a F AT + g, AR 6 Ade x g1 O FeATaf@T v & 3caR dfAv|
8900a100p504@121a1l = ?

Options:

1) 58

2) 62

3) 158

4) 205
Correct Answer: 58
Candidate Answer: 58

Question 15.Some equations are solved on the basis of a certain system. On the same basis, find out the correct answer from amongst the four alternatives to the
unsolved equation

FS THIRIOT Teh TARET JOTel 3 §e FohT 1T §| 3 3MUR 0X &l o Fohar 18 92T 1 gl e 1T 91T fehedt 3 T TeT See AT ?
1x2x3 =231

3x4x5=453

5x6x7=7?

Options:
1) 657

2) 675
3) 756

4) 765
Correct Answer: 675
Candidate Answer: 675



Question 16.Select the missing numbers from the given alternatives

fu 1w fashedt 7 & o 3i% w1 i ?
4 3 6
3 5 4
2 2 3
14 16 ?
Options:
1) 12
2) 18
3) 20
4) 30

Correct Answer: 30
Candidate Answer: [ NOT ANSWERED ]

Question 17.Rajneesh started walking towards North. He took a left turn after walking 20 metres. He again took a right turn after walking 30 metres. Which direction
is he facing now?

TSN o Secik T 3T wofT % T a8 20 FeX Teid & JTe S1T 73 IAT| 30 Hex Teled & 916 a6 1R W s 3R 713 91T 3 T Sl YT fom M A § 2
Options:

1) North

3y

2) East

kS

3) West

gfege

4) South

gfaor

Correct Answer: North
EIES

Candidate Answer: North
EIES

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All books are trees. 2. All trees are lions. Conclusions: 1. All books are lions. II. All lions are books. III. All trees are books IV. Some lions are
books.

RAfaf@d Ut & ve a1 e avded Y 9 €, fash 3mr ar Ased/dAead, 1, 11, 111 3R IV e 3 § 3maent R s § & aoded e § 9 98 IHead:
AT T et g 8T 811 3R 0T T § T U 10 aerdey 7 @ Fi-ar AR T 8§ TE) [Aseny/Aeaar iR S har g ?

FEded : 1. T g gaT i
2. e gat AR

ey : 1 el gk R E
II &% O s 21

IT1 &8t g7 q&aish &1

IV F& I & &l

Options:

1) Only conclusions I and III follow
Shael fshy 13T 111 TEr 1

2) Only conclusions I and 1V follow
e forsey 3R IV & §

3) None of the conclusions follow
1 off frvehy T o7e B

4) All conclusions follow

Tl Ty wEY &

Correct Answer: Only conclusions I and IV follow

el sy I 3R IV T &1
Candidate Answer: [ NOT ANSWERED ]



Question 19.In the given cube, which colour is opposite to Blue?

TR JTepicl & FAlel & AN FHled-A7 TT 8 ?

Green Blue Vialat ellaw

Yillow
Green
Blue
Vialet

Rad Red Red Red

Options:
1) Green

ar

2) Red
offel

3) Violet
ST

4) Yellow
drerm

Correct Answer: Yellow

e

Candidate Answer: Yellow

e

Question 20.Identify the relationship that best represents the relationship among classes given below:

g 3G TAET S AT S0t & i T8 goa=er #F Riar 2l
Professors, Women and Clerks
Options:
1)
'\ /
SO
h / \ __/

2

é Zj N

.\__ H_/.
O

x’fwx:“\
VAN

4)

OO
O

Correct Answer:

(0
LYASS

Candidate Answer:

N
A



Question 21.Which answer figure will complete the pattern in the question figure?

FHleT-TT SoclX 3Tt TR SMFTA & FTTdT T T M 2

|
T~ ~T )

\ ™ i /

N A
// |
l/ .-"/:' :
L+




Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 1 Seal ITHTAT # A 3 3eak 3Ff 1 IfAT forws yea anpfa Afka €2

Options:
1)
2)
1
||
3)
4)
|
Correct Answer:
1
| N |
Candidate Answer:
1
i




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

e TRl TaTST T i1 FmTT 9o & 3TTHR HISHY It ST Al Wield & 1 a8 Thd Sea¥ Tpia siar fe@rs o ?

— _———

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T I0T A MN @7 TR T AT AT & 18 Seall ITHTaat 7 F lar-Ar 3mepfar weat el o1 @ gfafaes gl 2

M/ / [/ / 7 /N

Options:
1)

2)

3)

4)

Correct Answer:

e

St

Candidate Answer: [ NOT ANSWERED ]



Question 25.A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5
to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'D' can be represented by 01, 13, etc., and 'H' can be represented
by 55, 67, etc.

Similarly you have to identify the set for the word 'LIKE'

AR 99T # U 2eq el U HEAT- HHE SN SRITIT 31T &, oH o fareped! 3 @ fonell var 3 foam ama &1 faerontt 7 few a1w wea - wofg 38T & aF avif ganr &=ire
31T §, St T i fw 97T & et 7 §1 3megg [ & weeT i G T wear 0 W 4 a9 & 918 § I 3egE 11 H1 5 {9 T 3T AehgT U T I8 H Tgol 3! Giaed
3R STE # TAFH TEAT @RI ST ST TehdT &1 30T & AT, D #Y 01, 13, 377 SaRT =T ST ThelT & TUT H Y 55, 67,377 S@RT SRITT ST TeheTT §| 3T e & 3TIht
T 2 'LIKE' % fov #og  qg<metett &1

MATRIX | MATRIX Il

0 1 2 3 4 5 6 7 8 9
o |(C |[D |E |F |G 5 |H |[K |L |I N
1 F G |C D |E 6 I N H K L
2 |D |E |F |G |C 7 |K |[L | N [H
3 |[E |[F |G (C |D g |L |I N |H [K
4 |G (C |D |E |F 9 [N |[H (K |[L |

Options:

1) 56, 58, 03, 02
2) 57, 65, 62, 02
3) 56, 62, 03, 02

4) 57, 68, 40, 02
Correct Answer: 57, 65, 62, 02
Candidate Answer: [ NOT ANSWERED ]

Question 26.What is 'net neutrality'?

" gl FTE ?

Options:

1) Internet Service Providers and governments should treat all data on the internet equally

ge¥aAe AT YerdT Ut (ISP) 3R TERT H §elele & IU STt Tl TeiT 31T TR THNT T H STIER el AT
2) Piracy in internet must be curbed

geXACT H ITAY Aol I Jehel TITRT

3) Internet users must give out balanced opinions in social media sites

§TTAT SUHIFT T AT HETH TR Hffeld Ficifshar / fecqut &= =g e

4) Internet should be kept free from malware and virus

AT 3N grfererrer HaIT AT TRRE A FeTeIe N Hod I AT

Correct Answer: Internet Service Providers and governments should treat all data on the internet equally
geXaAe AT UerdT Uit (ISP) 3R TART T §exate & IU STt dTel T 31T 3 T THT T F cTIgR el AT
Candidate Answer: Internet Service Providers and governments should treat all data on the internet equally
geeTe [aT YeldT HAfAdT (ISP) 3R TERT Y §exAe # UTT STt dTel Tl 31eT & T THAA TT § TIER AT ANRT

Question 27.Excise duty is levied on

3cUTe; Yo fohd IR TaTT STl § ?
Options:

1) sale of goods

ATl & foshr aX

2) production of goods

AT & 3cUTeed W

3) import of goods

A & AT W

4) export of goods

AT & T

Correct Answer: production of goods
AT & 3cded W

Candidate Answer: production of goods
A & 3caeed W

Question 28.Golden Revolution in India refers to growth of:

ot shifed TohaehT sad 1 S et 82



Options:

1) Militancy in the north-east.
S-S H 33qaTE

2) Oilseeds production

AA-a1ST T 3edTeet

3) Horticulture

SRTATAT

4) Increased importing of gold

el & AT 7 dod

Correct Answer: Oilseeds production
TA-SIST T SedTeeT

Candidate Answer: Oilseeds production
TA-SIST T ScdTesT

Question 29.Water is used in a hot water bag because

IRH STA-3T F STl T 3GAT AT AT & FifH
Options:

1) It is easily available

g TR A e &

2) It has high specific gravity

3qa fafirse qecarRior S &

3) It has high specific heat

35T fafRISe FoAT sTer &

4) It is a liquid substance

IE Toh el TS ¥

Correct Answer: It has high specific heat
35T fafrse AT sy &

Candidate Answer: It has high specific heat
35T fafrse AT ST &

Question 30.What is the meaning of "Public Interest Litigation"?

SeAfed T 1 Ades FaT8?

Options:

1) Anything of public interest

5o oh foret sfee &t

2) A case brought by victim to court, involving public interest.

NS eI SaRT el A SieTigel # ST IAT FheT

3) A case brought by anyone to court involving public interest.

Toheil ST @ 37eTelcd 3 STeTfed 3 ST 1T HeheHT

4) A directive issued by Supreme Court involving public interest

Hafed saTTeRT aRT Selfed H AR faha 1T fo¥ezr

Correct Answer: A case brought by anyone to court involving public interest.
TRl ST @ 37eTelcd & SieTfgd # ST a7 Hehe A

Candidate Answer: A case brought by anyone to court involving public interest.
T3l ST @R 37eTeldd & Sieifed # ST a1 HeheH

Question 31.Who referred to Mahatma Gandhi as "Father of the Nation" for the first time?

FARTCHAT T T AT Tgol "TSIAAT" & A1 A oheay Tt frar ar?
Options:

1) Jawaharlal Nehru

STATETelel g

2) Sardar Vallabh Bhai Patel

TRER Toold HIS Tt

3) C. Rajgopalachari

. ISRy

4) Subhash Chandra Bose

Qs S

Correct Answer: Subhash Chandra Bose
g S

Candidate Answer: Subhash Chandra Bose
GG S

Question 32.Which title, given by the British Government to Mahatma Gandhi, was surrendered during the non- cooperation movement?

31T (o) TR @RT FETeaT e Y & 15 T T et eI ieie & T siler & 75 4



Options:

1) Hind Kesari

g e

2) Rai Bahadur

RRIERIES

3) Rt. Honourable

REA I ECC)

4) Kaiser-e-Hind

Fw-u-fég

Correct Answer: Kaiser-e-Hind
FwW-u-feg

Candidate Answer: Kaiser-e-Hind

FR-u-fEe

Question 33.The temperature of a liquid is 32° F. What is its temperature in Celsius scale?

e Ueh el Yere ol A9 32° F § df Qflad & 39er a19deT fohdelr &7
Options:

1)32°C

2)0°C

3) 100° C

4)212°C
Correct Answer: 0° C
Candidate Answer: 0° C

Question 34.The point where total mass of a body is supposed to be concentrated is known as

AR T I 9T o1 TR R FT TFET AR Fiegd gaT 8, I8 5 =1F F ST AT § ?
Options:

1) Dead centre

3T HX

2) Centre of mass

JoeX 3HTH A

3) Centre of gravity

[eeX 3T AT

4) Centre of motion

[eeX 3T AT

Correct Answer: Centre of mass
[eeX HTH 7

Candidate Answer: Centre of mass
[eeX HTH A

Question 35.Which part of brain is also known as "little brain"?

FRETSH o leTel TGEH T "o HAIETSh"Sh 7T W 87 AT ST & ?

Options:

1) Cerebrum
o

2) Cerebellum
Ao

3) Thalamus
YTelTHT

4) Hypothalamus

Correct Answer: Cerebellum

oo

Candidate Answer: Cerebrum

AR

Question 36.Which organism is responsible for alcohol fermentation?

FITHT ST 3TehIEd fHUasT FaAT & ?



Options:
1) Chlorella
Flkeoll

2) Yeast
e (@AR)
3) Agaricus
LEiren:y

4) Puccinia
wgehIfaaT

S
Correct Answer: Yeast
Ae (@HR)
Candidate Answer: [ NOT ANSWERED ]

Question 37.Which of the following groups of rivers have their source of origin in Tibet?

SriffEd 7 & et a7er Tag! o fosara HseA giar g ?
Options:

1) Brahmaputra, Indus & Sutlej

SEAT, Y 3R Feerst

2) Ganga, Sutlej & Yamuna

39T, Helete 3N FFAT

3) Brahmaputra, Ganga & Sutlej

SEAYH, I 3R Feferst

4) Chenab, Ravi & Sutlej

e, TdY 3R AT

Correct Answer: Brahmaputra, Indus & Sutlej
SEAY, e 3R Herorst

Candidate Answer: Brahmaputra, Indus & Sutlej
SEAY, Y 3R Herorst

Question 38.The most ideal region for the cultivation of cotton in India is

FART T Wil & oIt AR 7 FEH SccdH TC=T HieTar g2
Options:

1) The Brahmaputra Valley

SEAY TTer

2) The Deccan Plateau

GFhad ST YR

3) The Indo-Gangetic Valley

Fwe-afam e

4) The Rann of Kutch

T 3T Feo

Correct Answer: The Deccan Plateau
GFehal &l USR

Candidate Answer: The Deccan Plateau
el &l TSR

Question 39.Where do the electrical charges reside in a charged conductor?

Tt AR Hargeh verd # faege afed Fel el 82
Options:

1) at the core

FET T H

2) throughout the body

qRR A

3) depended upon the nature of the body
RR Tyl o R T &

4) outer surface of the body

e Helg T

Correct Answer: outer surface of the body
e Helg T

Candidate Answer: [ NOT ANSWERED ]

Question 40.The colour of the ocean appears to be blue because the sunlight falling on it is

TG T 7 oArer e § FifF seF SR @ adr @@ Hr s @arg



Options:

1) reflected

RIFdT

2) refracted

ferm-gRadeT

3) diffracted

Fad=

4) scattered

ghrofer

Correct Answer: scattered

RO

Candidate Answer: scattered

RO

Question 41.In which mode can the computers that are associated send frames directly to each other?

ot 2 (#13) 3 Weifrer heegex weh g b e e et TRl & 2
Options:

1) Adhoc mode

TSgiE A

2) Infrastructure mode

SRR HIS

3) Structured mode

TS A

4) Anonymous mode

TAIHE A5

Correct Answer: Adhoc mode

TsgiE Hig

Candidate Answer: [ NOT ANSWERED ]

Question 42.What was the immediate cause of the Mutiny of 1857?

1857 &I Shifcl T cTcehlfoldh IRUT T 2T ?

Options:

1) The discontentment of the soldiers

a3 TS

2) The use of greased cartridges in the new Enfield Rifle
7S TABIeS TSl H TRET STy aferdt 1 39T

3) The social conditions of India

R T AR JaET

4) The introduction of railways and telegraphs

Tord 3R eI hT Qe3TTel

Correct Answer: The use of greased cartridges in the new Enfield Rifle
TS TAhles USthel & TS oY MTAAT 7 39T

Candidate Answer: The use of greased cartridges in the new Enfield Rifle
TS TeTthies TSl & TS oY M 1 392ner

Question 43.Who introduced the "Doctrine of Lapse" to expand British territories in India?

R A Tofeer wmerea &t ot & 3227 & farem "stardiet 3T arew” fAgTed oy e ar?
Options:

1) Lord Hastings

drs grafeésa

2) Lord Wellesley

1S JorTel

3) Lord William Bentinck
EICAEICRE I

4) Lord Dalhousie

@S serlar

Correct Answer: Lord Dalhousie
CEECHE

Candidate Answer: Lord Wellesley
SIS JorTel

Question 44.HRIDAY scheme launched by Urban Development Ministry aims at

AT TIehIe HATCIT SaRT "Feg" ANSTAT YT Flel ohT 3T T §7



Options:

1) Education of girl child

gfcaar $r fRwer

2) Development of smart cities

THIE 2R T TRy

3) Urban sewage treatment

TR Fel TelersT

4) Development of heritage sites

TiEepicish eI Td TATAT T Taehre

Correct Answer: Development of heritage sites
TiEpicieh eI Td TATAT T faehre

Candidate Answer: Development of heritage sites

TiEpicieh €I Td TATAT T T
Question 45.Global warming is expected to result in

"Felierel aTfaar & fAeT & § &7 aRome 3fEaa & ?
Options:

1) Increase in sea level

T ER A R

2) Change in crop pattern

el H TEIa

3) Change in coastal line

e @1 # deea

4) All of these

T3l [aheT TET§

Correct Answer: All of these

w3 Ao @@ &

Candidate Answer: Increase in sea level

TN TR AR
Question 46.Who appoints and dismisses the gazetted officials of the Union Government?

T TR & ATt iRt & efaf@d # & i foged ik suied &= g ?

Options:

1) The President of India

AR & ISgafar

2) The Prime Minister of India

HRA & eI HAT

3) The Home Minister of India

R & g =N

4) The Finance Minister of India

HRA & facd 7Y

Correct Answer: The President of India
HRA & ISgIfeT

Candidate Answer: The President of India
HRA & ISgdfa

Question 47.The industry having the largest investment in Indian Economy is?

AR 3reicTaed 7 AT & I Rl SegeT J T samer fAaer o rar g ?
Options:

1) Tea

I

2) Cement

A

3) Steel

1T

4) Jute

YcHeT

Correct Answer: Steel
SEITA

Candidate Answer: Steel
ST

Question 48.Ajanta Ellora Caves are situated near which of the following cities?

ot TelRT ot aohrd frfaf@rd 7 @ sl & e & ura e &2



Options:

1) Mount Abu
HI3wE 3Tq

2) Aurangabad
ki ice)ICiry

3) Bijapur
RN

4) Madurai

g

Correct Answer: Aurangabad

KIETIICI Y

Candidate Answer: Aurangabad

3R

Question 49.Which of the following is a name of US Parliament?

3ARE G FT AT FATE ?
Options:

1) Diet

3BT

2) Senate

d=T

3) Congress

FAT

4) House of Commons
139 AT HiF-a

Correct Answer: Congress

FET

Candidate Answer: Congress

FET

Question 50.Charles Correa is a renowned Indian

AT FINAT Teh HRAT SIS 2l
Options:

1) Freedom fighter

FaATAT FAAT

2) Painter

[EEEDE

3) Architect, urban planner

FREIHR, IR FroTell fARITT (CellelY)

4) Award winning doctor

Correct Answer: Architect, urban planner
FREIHR, IR T fARIT (CellelX)
Candidate Answer: Architect, urban planner
AREIHR, FAIR ANSFeT AT (Tl i)

Question 51.A father can do job as fast as 2 sons working together. If one son does the job in 3 hours and the other in 6 hours, the number of hours taken by the
father, to do the job alone is

Teh AT 3cfatt STec) Tl hit T o Teohell § Tl STecl 30k & 3¢ THeeht 9 Tohd & TG Ueh 9T 3 HU & i T Fehell § 3R GERT 6 U0 H X Thell § Al 38 F1 I
et # Far & e ge @@ ?

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: 2

Question 52.The perimeter of a rhombus is 240 m and the distance between any two parallel sides is 20 m. The area of the rhombus in sg.m. is

T FAAGHST T IRAMT 240 3. § 3R et & Foie somait & e o gt 20 3. §| TSt T AT fahdter aetieT § 2



Options:
1) 600

2) 1200
3) 2400

4) 4800
Correct Answer: 1200
Candidate Answer: [ NOT ANSWERED ]

Question 53.A man sold an article for Rs. 450, after allowing a discount of 16 2/3 % on the printed price. What is that printed price?

U Safad o Hiod Hed W 16 2/3 % T G & & d1G HIS a&G Rs. 450 # I Ao e Fhce & ?
Options:
1) Rs.525
2) Rs.530
3) Rs.535

4) Rs.540
Correct Answer: Rs.540
Candidate Answer: [ NOT ANSWERED ]

Question 54.A sum of Rs. 770 has been divided among A, B, C in such a way that A receives 2/9 th of what B and C together receive. Then A's share is

Rs. 770 & A,B,C # 5 YR TasTITore foham aram & o ToiaielT &7 B 3R C oY T e 3@erT 2/9 af REdm A & ferm| A &7 iR foraer & 2
Options:
1) Rs.140
2) Rs.154
3) Rs.165

4) Rs.170
Correct Answer: Rs.140
Candidate Answer: [ NOT ANSWERED ]

Question 55.A man bought 4 dozen eggs at [1 24 per dozen and 2 dozen eggs at |1 32 per dozen. To gain 20% on the whole, he should sell the eggs at

TS 3TEH A 4 &l 3108 [ 24 9 Eolet T 2 &oleT 3108 [ 32 Gfdl &oiet & 1 & G| Fel U TR 20% T AT U1l XA & AT a8 370ET 1 oy 8718 o el 2
Options:

1) (1 16 per dozen

L 16 9T gotet

2) (] 21 per dozen

1121 9fY gotet

3) 11 32 per dozen

[ 32 i gaiet

4) (1 35 per dozen

L 35 9fa gotet

Correct Answer: (1 32 per dozen

0 32 ufar goteT
Candidate Answer: [ NOT ANSWERED ]

Question 56. P's salary is 25% higher than Q, what percentage is Q's salary lower than that of P?

P &7 adeT Q & dd A 25% T8 &1 Q T AT P & adel I fohcdall % HT & ?

Options:
1) 20

2) 29
3)31

4) 3313
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]



Question 57.A and B start running at the same time and from the same point around a circle. If A can complete one round in 40 seconds and B in50 seconds, how
many seconds will they take to reach the starting point simultaneously?

A 3R B U &1 §HT WX 3R U &1 f¥eg A gt & IRT 3N Sl5aT1 I4& id &1 1 A Teh Tt 40 Yehvs #H S9NT 3T B 50 AHUs & oMY, oY 3¢ TRIFTh feig 0 Uah @y
qEet 3 TeheletT T w1 ?

Options:

1)10

2) 200

3) 90

4) 2000
Correct Answer: 200
Candidate Answer: [ NOT ANSWERED ]

Question 58.
1.1 oA
Ifx—a—gthevaiueof3x(x i

AR x — o= BVl 3x (x— o) & AT T E ?

Options:
1)-1

2)1
3)-2

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 59.
1 1
If P =3+ —, thevalueof p*+— is:
P rt

qE P = 3+%E’ra’rp4+%a€rﬂmwﬁ?:

Options:
1) 81

2) 27
3) 120

4) 119
Correct Answer: 119
Candidate Answer: [ NOT ANSWERED ]

Question 60.AABC is an isosceles triangle with AB = AC = 15 cm and altitude from A on BC is 12 cm. Length of side BC is

AABC Tsh HHESISTE F3fsT & TSEeht AB = AC = 15 & HXBC XA & 0¥ &y 12 .. §1 8 BC 1 o€ fohetet & 2
Options:

1)9cm

9 ..

2)12cm

12 8.4

3)18cm

18 ..

4) 20 cm

20 {7

Correct Answer: 18 cm

18 .o,
Candidate Answer: [ NOT ANSWERED ]

Question 61.The mid points of AB and AC of a triangle ABC are respectively X & Y. If BC + XY = 12 units, then the value of BC - XY is:

T f38fsT ABC o AB 3R AC & \E faieg sher: X XY &1 I17¢ BC + XY = 12 gfeie &1 dt BC - XY o1 #1eT fohcialT & ?



Options:

1) 2 units

2 g

2) 6 units

6 gfe

3) 8 units

8 gfre

4) 4 units

4 gfae

Correct Answer: 4 units
4 gfae

Candidate Answer: [ NOT ANSWERED ]

Question 62.
Which of the following relations is correct for 0 <X § < 90°7

0 < 6 < 90° & folw =g A T Ha-m e agig ?

Options:
1) sin = sin%0

2) sind < sin26
3) sind > sin20

4) sinB = cosecO
Correct Answer: sind > sinZ0
Candidate Answer: sin6 = sin%6

Question 63.The difference between two numbers is 9 and the difference between their squares is 207. The numbers are

& Tt & & 37 9 & 3R 377 g9if & i 3id% 207 &1 A’ FAr E ?

Options:
1)17,8

2)16,7
3) 15,6

4) 23, 14
Correct Answer: 16, 7
Candidate Answer: 16, 7

Question 64.The average of 20 numbers is calculated as 35. It is discovered later on that while calculating the average, one number, namely 85, was read as 45. The
correct average is

20 Tt 1 3t 35 gREfoT fFar s &1 a1e 7 g 2@ 7137 6 3iad &1 aRevele s THT e TEAT 85 Y ITeldr ¥ 45 Uer 1T AT Ter 3t v g ?

Options:
1) 36

2) 36.5
3)37

4) 37.5
Correct Answer: 37
Candidate Answer: 37

Question 65.If x2 - xy + y2 = 2 and x* + x2y2 + y* =6, then the value of x2 + xy + yZ is:

R -xy +y2 23 +xy2 +yt =6 @A + xy + Y AT FATE ?

Options:
1)1

2) 12
3)3

4) 36
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]



Question 66.If a2 + 13b2 + 2 - 4ab - 6bc = 0, then a:b:c is

T a2 + 13b% + ¢ - 4ab - 6bc = 0, AT a:b:c AR FATE ?
Options:

1) 1:2:3

2)2:3:1

3)2:1:3

4) 1:3:2
Correct Answer: 2:1:3
Candidate Answer: [ NOT ANSWERED ]

Question 67.The circum-centre of a triangle ABC is O. If zBAC = 85°, ~BCA = 75°, then 2OAC is of

weh f33geT ABC T UReeg O 81 If £BAC = 85°, £BCA = 75°, At LOAC fhctar gham 2
Options:
1) 70°

2) 720
3) 75°

4) 74°
Correct Answer: 70°
Candidate Answer: [ NOT ANSWERED ]

Question 68.Radius of the incircle of an equilateral AABC of sides 2v/3 units is x cm. The value of x is

23 Gf¥E dTel Teh HASTE AABC & 31l et &1 Foar x AL, & Y x 1 AT 1% ?

Options:
1) %

2) 12
3)1

4) V3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 69.
If tan3 6.tan7 8 = 1,then the value of tan(f + 36°) is

TTE tan3 6.tan? @ = 1, B Al tan(@ + 36°) FTHAAFTE ?

Options:
1Yy

2)0
3)1

4) V3
Correct Answer: 1
Candidate Answer: 1

Question 70.If the angle of elevation of a cloud from a point 200 m above a lake is 30° and the angle of depression of its reflection in the lake is 60°. Then the height
of the cloud above the lake is

It ve it % 200 7 IR & &g F araet 1 3712t HIoT 30° 3R 3feT 3 3HF Raciel & ITTiel HIOT 60° B, T ST & TR aGel T FelTs hetodt & ?
Options:

1) 100 m

100 .

2) 200 m

200 .

3)300m

300 .

4) 400 m

400 #.

Correct Answer: 400 m
400 #.



Candidate Answer: 100 m
100 #r.

1) Rs.684.32

8% Hfcias T T TR Rs. 40,000 &7 3 ¥ & AR s47e 3R Tshafe sarer (@ gfdad dafore fovar S &) & 3ie) e § 2
2) Rs.788.48

Question 71.The difference between the simple interest and compound interest (compounded annually) on Rs. 40,000 for 3 years at 8% per annum is
Options:

3) Rs.784.58

4) Rs.4000

Correct Answer: Rs.788.48

Candidate Answer: [ NOT ANSWERED ]

Question 72.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.

ARG T US-T1€ F a¥ 1994-96 F AT St Y FTAGET F1 A0 AT IR—AT § | UTS-TME T 3T HToTT 3R TG F2=T T 3cca QT |
Ed
2
2
£
(=

53

8
o
[]

Language disorder Auditary disorder

657 871

Speech disorder
275

Voice disorder
222

Find the approximate percentage distribution of children with auditory disorder

A[EOT TN T el &l e Afaret gfaerd fawor e fifaw ?
Options:
1) 43.7%

2) 42.7%
3) 41.7%
4) 40.7%
Correct Answer: 41.7%

Candidate Answer: [ NOT ANSWERED ]



Question 73.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.
TR IS-T€ F a¥ 1994-96 F AT st H FTIEEAT FT FIAT0T AT AT § | IS-TME 7 3qTA FlfoiT 3R =@ 99&1 I 3ca’ QST |
Ed
2
2
=
2
3 =
8
o
[]
Language disorder Auditory disorder
657 871
Speech disorder
275

Voice disorder
222

ay¥ 1994-96 H AT YR & AT =l T it Tear o= &2
Options:
1) 417

What is the average number of cases in different types of special children during the year 1994-96.
2) 413
3) 433
4) 465

Correct Answer: 417

Candidate Answer: [ NOT ANSWERED ]

Question 74.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.
fafEa TS-a1€ & a¥ 1994-96 F fAAY Sat H FTaET T TTTI0T AT AT § | IS-TTE T 31T HIfoTw 3R AF=1faf@d Tea1 &l 3ca’ QT |
Ed
2
2
£
3
8 =
8
o
[]
Language disorder Auditary disorder
657 871
Speech disorder
275

Voice dizorder
222

Find the ratio between articulatory disorder and speech disorder cases.

STIROT ST 3R dTep ST aTel et & s Hedied 3l IS ?



Options:
1) 21:55

2) 55:21

3)55:12

4) 12:55

Correct Answer: 12:55

Candidate Answer: [ NOT ANSWERED ]

Question 75.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.

faf@a TS-ar€ & a¥ 1994-96 I AT ot i FTGET HT TIaT0T ST I1AT § | IS-TME 7 31y hiferw 3R e=ifaf@a geat & 3cav T |

b
=
g
=
a3
-
g
o
)
Language disorder Auditory disorder
657 71
Speech disorder . 9
375 Vioice disorder

222

What is the ratio between language disorder and the average of the remaining disorder cases.

STST STEN 3R STEhT ST aTel el oh 3FRACT o STt fobela T 87

Options:
1) 219:119

2) 119:219
3) 919:419

4) 729:529
Correct Answer: 219:119
Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

COPIOUS

Options:

1) VAST

2) IDENTICAL

3) PLENTIFUL
4) MESSY

Correct Answer: PLENTIFUL
Candidate Answer: VAST

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

EXTRANEOUS

Options:

1) UNUSUAL

2) DISPIRITED

3) RELEVANT
4) INTRUSIVE

Correct Answer: RELEVANT
Candidate Answer: UNUSUAL

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.



Options:

1) discripency

2) discripancy

3) discrepancy

4) descripancy

Correct Answer: discrepancy

Candidate Answer: discripancy

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The Statesman has(A)/the largest circulation of any (B)/English dailies.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

A period of six years(A)/ have elapsed(B)/ since I last saw her.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

For several years now(A)/my newspaper agent has been spelling(B)/my name in correctly.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

One of the reasons the impressionists caused such a scandal was their colours were too bright.
Options:

1) because of which

2) due to

3) because

4) of

Correct Answer: because

Candidate Answer: of

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She must sometimes to run away.
Options:

1) has wanted

2) have wanted

3) having want

4) has want

Correct Answer: have wanted

Candidate Answer: has wanted

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The bank decided to them the money as they were reliable clients.
Options:

1) let

2) lend

3) borrow

4) lease

Correct Answer: lend
Candidate Answer: lend



Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Smooth ruffled feathers

Options:

1) Comb untidy hair

2) Make people feel less offended
3) Tousle someone's hair

4) Stroke a pet animal

Correct Answer: Make people feel less offended
Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Assume airs
Options:

1) Take tight

2) Remain calm

3) Act innocent

4) Pretend superiority

Correct Answer: Pretend superiority
Candidate Answer: Act innocent

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Play truant

Options:

1) Play a tyrant

2) Stay away from duty
3) Be responsible

4) Be alert

Correct Answer: Stay away from duty
Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who studies the working of the human mind.
Options:

1) Anthropologist

2) Psychologist

3) Neurologist

4) Ethnologist

Correct Answer: Psychologist
Candidate Answer: Psychologist

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Place given to soldiers to live in
Options:

1) Barracks

2) Trench

3) Garage

4) Quay

Correct Answer: Barracks
Candidate Answer: Barracks

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person of South African Dutch descent
Options:

1) Boar

2) Boer

3) Boor

4) Bore

Correct Answer: Boer
Candidate Answer: Boer

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She took the cycle which he bought yesterday.



Options:

1) that he bought yesterday.

2) that he had bought yesterday
3) that he has bought yesterday
4) No Improvement

Correct Answer: that he had bought yesterday
Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I must say to a feeling of uneasiness.
Options:

1) confess

2) connive

3) utter

4) No Improvement

Correct Answer: confess
Candidate Answer: confess

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The police booked a case against the taxi driver for wrong parking.
Options:

1) restricted

2) wrote

3) filed

4) No Improvement

Correct Answer: filed
Candidate Answer: filed

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

One of our students originates from Leh.
Options:

1) comes

2) origins

3) belongs

4) No Improvement

Correct Answer: comes

Candidate Answer: comes

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Scarcely had he left the place when his friend came.
Options:

1) He had scarcely leave

2) He had left scarcely

3) He scarcely had left

4) No Improvement

Correct Answer: No Improvement
Candidate Answer: He scarcely had left

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

The young seagull dived at the fish
Options:

1) maddened by anger

2) maddened by want

3) out of spite

4) out of loneliness

Correct Answer: maddened by want

Candidate Answer: [ NOT ANSWERED ]



Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

His heart stood still because he was seized by
Options:

1) a monstrous fury

2) courage

3) a monstrous terror

4) joy

Correct Answer: a monstrous terror
Candidate Answer: [ NOT ANSWERED ]

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

He was not falling headlong but

Options:

1) he was afraid

2) he was soaring downwards and outwards

3) his stomach was full

4) he was joining his father

Correct Answer: he was soaring downwards and outwards
Candidate Answer: [ NOT ANSWERED ]

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

The seagull just felt dizzy

Options:

1) and was filled with fear

2) and was no longer afraid

3) and did not flap his wings anymore
4) and dived lower

Correct Answer: and was no longer afraid
Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and
his heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

What did the young seagull do when his mother swooped past him?



Options:

1) Let out a joyous scream
2) Screamed at her in anger
3) Made a loud noise

4) Flapped anxiously

Correct Answer: Let out a joyous scream
Candidate Answer: [ NOT ANSWERED ]



